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o Students will complete a foldable with ten points of information on the Geography of the Fertile Crescent
o Students will be given a map on the Fertile Crescent to complete the following task

« Students will trace(highlight) the flow of the Tigris and Euphrates rivers

o Students will put #1 where the Tigris and Euphrates begin

© Students will put #2 where the Tigris and Euphrates empties into

« Students will put #3 to identify the Fertile Crescent

« Students will complete the following statement. Mesopotamia is in present-day
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These are some acceptable responses, but not exclusive, for grading the required
expectations: Students will show that they learned ten characteristics on the
Geography of the Fertile Crescent.

© Mesopotamia is in present-day Iraq

* Mesopotamia is in the Fertile Crescent

 Fertile Crescent extends into Egypt

» Mesopotamia developed around the natural resource-water

® Tigris and Euphrates rivers are on each side of the Fertile Crescent

o Tigris and Euphrates rivers begin in the Taurus Mountains

® Tigris and Euphrates rivers empties into the Persian Gulf

® Fertile Crescent is an area shaped like a crescent, ear, boomerang, etc. which has rich soil
o Rivers deposit silt as they flow south

* Mesopotamian farmers protected their fields from flooding by building levees

© Farmers in the northern part of Mesopotamia had to irrigate their crops because of lack of water
* Mesopotamian farmers grew many different crops

o They grew wheat and barley

o Shepherds herded sheep and goats for their milk and wool

® Cattle were work animals, which also produced milk and meat

* Erosion was the main cause of Iraq becoming a desert




